
Algorithm 1 Backtrack the longest common subsequence
1: function LCSQ(S1: Array(n), S2: Array(m))
2: M,P ← LCSQ_Matrix(S1, S2)
3: L← Array(M [n][m])
4: k ← 0
5: i← n

6: j ← m
7: while i > 0 and j > 0 do
8: if P [i][j] =′↖′ then
9: L[k]← S1[i]

10: i−−
11: j −−
12: k ++
13: else if P [i][j] =′←′ then
14: j −−
15: else
16: i−−
17: end if
18: end while
19: return L

20: end function

1



Algorithm 2 Recursive reconstruction of the longest common subsequence
1: procedure LCSQ(S1: Array(n), S2: Array(m))
2: M,P ← LCSQ_Matrix(S1, S2)
3: i← n

4: j ← m
5: Aux(P , S1, i, j)
6: end procedure
7: procedure Aux(P : Array(n+ 1, m+ 1), S1: Array(n), i, j)
8: if P [i][j] =′↖′ then
9: l← S1[i]

10: Aux(P , S1, i− 1, j − 1)
11: print(l)
12: else if P [i][j] =′←′ then
13: Aux(P , S1, i, j − 1)
14: else
15: Aux(P , S1, i− 1, j)
16: end if
17: end procedure
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